B.Com. (Part-1)
Term End Examination, 2019

Group - A
Paper - I1

Business Mathematics

Time : Three Hours] [Maximum Marks : 75
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: Answer all questions. The figures in the right-
hand margin indicate marks.

Note

TP / Unit-1
1. (a) x & |UY J& HISQ 7

X
4x+2

Differentiate with respect to x

X
4x +2
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(2)
¢ fm & s @ ffEs 9@ J@
HifwT |
y=-10.5x% + 672x + 205

Find out the maxima and minima of the
following :

y=-10.5x2 + 672x + 205
379747 / OR
(a) T[UE H TEEA § WA ST
76 x {2161
(212)?
Simplify by using log tables :

3176 x Y2161

(212)*

(b) 3 log2=0.3010 T4l log 3 =0.4771 7,
91 TR @ &g

10 25 81
— —2log=> + 3log—
Thog=g-~2log7 + log

If log 2 =0.3010 and log 3 = 0.4771, find

the value of :

10 25 81
Tlog 2 ~210g 2 + 310 L
0BTy TR TR

8

2.

(3)

T8 / Unit-I1

(a) fr=ifea arfors ¥ wum dfd ¥ oragal
¥ TEEUE I FHQ

-2 3 4
1 -2 3
-5 3 4

Find all the co-factors of elements of first
row in the following determinant :

-2 3 4
1 -2 3
-5 3 4

(b) Tr=ifea wrfoes #1 om 3@ wifau

AN -
— N Q)

1
4
5

Find the
determinant :

value of the following

(=N S B
—_—n W)
LIV S,

91/ OR
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(4)

10 2 4
af '":[z 3} N "2[3 2] g o

m2+n2+3] F A J@ HifSCy

10 2 4
If m= ) 3 and "= 3 9 , then find the

value of m?+n? +31.

THE / Unit-111

T FAeX AW gHE H ¥ 5,000 @MW
Fehl 81 SHA H 60 T W@ H ©&H o
IQ O 7250 H qun FE T 50 W OfAeEt R)
A W TS50 AW qA FH W T15 AN
frerar &1 efusham @ Ww & & fag
g8 fradl A9 qu1 Fidal @l ? Afushad
o o ST

A furniture merchant can invest ¥ 5,000 in
his shop. In the shop there is place to put 60
articles. He gets a table for ¥ 250 and a chair
for ¥ 50. The profit he gets on a table is

¥ 50 and on a chair is ¥ 15. For maximum
profit how many tables and chairs he should
purchase. Also calculate the maximum profit.

379497/ OR

15

(3)

(@) T1,170 &=q, foho iR F=it o 2:3:4

)

& ofu ® e S o fheg et @

faaa F oqua H # fam

W | =
A=

1
>
T F9ART 39 yA 9 fRE oA

& 7

¥ 1,170 is to be divided among Kanchan,
Kiran and Kunti in the ratio 2:3:4. By
mistake the distribution was made in the

| —

tatio . Calculate the gain or loss

1
4

y this error.

N | —
o W

of each

gfe wiafed 8 T H19 @ T 30 T/
foredt M # 24 Al § w wHA €, @
gfafes 10 @0 HM FA L 18 TN
I g FW I & A A g
F4 | 8
If 30 men working 8 hours a day can do
a piece of work in 24 days, in how many

days 18 men working 10 hours a day will
finish double piece of the work ?

(Continued)
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5.

(a)

(b)

(6)

gH1E / Unit-IV
£32540 F 499 29® & fau 5%
Fiffes W A Tgfe N FdiRCl

Find the compound interest on ¥ 325.40
for 4 years 2 months @ 5% per annum.

TIHgfe &9 &t fFE T/ 78,000
awafe = 398 § 71,261 & A2
At what rate of compound interest, the

interest of ¥ 8,000 will become ¥ 1,261
in 3 years ?

379491/ OR

7400 ¥ 2 auig aiffe G 1 4% TMEH

(4

A TdgA g dw famud 9@ &I

Safe A aified 81

Find the present value and amount of an

annuity due of ¥ 400 for 2 years at 4% per
annum when it is paid anually.

&8 / Unit-V

(@) Tl ® FWd T 20% H FH TH

=fed & 3@ A s ® fF 9w $10
# 5 3R TR @] | A §§ *imd
gul U ¥ TBA HI FHWd F@ HIfSQ)

15

7
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(b)

(a)

(7)

A reduction of 20% in the price of
oranges enables a man to buy 5 oranges

more for ¥ 10. Find the reduced price and
price before reduction.

) gemsit ¥ yym @9 @ sftea 45 R,
3ir sifqm ot demsil &1 sifma 40 ® 1 3fe
sifm dem so @, 9 el demn 3|
HifT |

Of the four numbers the average of the first
three is 45 and of the last 3 numbers is 40.

If the last number is 50, find out the first
number.

379497/ OR

&l 9 W 3ifehd gou W 20% 3TTER
A ®, 25 TH B 24 fiar & ao &9
fhu BT qea W 23% fafad 39 ar
2, 39 T 7% W fena1 firera 8, forman
sifera T 7400 #1

Hani General Stores gives a discount of

20% of the published price. Counts 25
books as 24 and gives further discount of

2%% on reduced price. What does he get
per book if the published price is ¥ 400 ?
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(8)

(b) Wal9 T 616 Wfa wEfda & g A A
TiEfeFe S=a 81 39 dic # IUH T8t
Tsfel W 12% oY qon gEd AEfea ®
12% & T Bl 8 | A foerrnt 39 oy
gial ® @1 g1, foa iR feaq ufdwe ?

Praveen sells two cycles at a price of
¥ 616 each. In this transaction he earns a
profit of 12% on one cycle and suffers a
loss of 12% on the other. What is the

profit or loss on the whole and what
percent ?
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